SECTION Il TM £5-2210-224-24P

<D
"< \\\\
\\\\\\\\\\\\\\@\\\\\\\llll
\\\\\\\\\ \\\\\E\f’
\
R

12

E
4834 055

Figure 55. Resistor, Generator Field.



SECTION Il TM 55-2210-224-24P

(1) ) (3) (4) (5)

ITEM PART
NO. FSCM NUMBER DESCRIPTION AND USABLE ON CODE QTY
GROUP 10 BRAKE SYSTEM, AIR
[EIG. 55]|RESISTOR, GENERATOR FIELD

1 96906 MS51922-33 NUT, LOCK 2
2 96906 MS51967-15 NUT 2
3 STUDS 2
4 97403 13228E2151 CAGE, RESISTOR 1
5 SPACERS 4
6 SPRINGS

7 96906 MS51967-09 NUT, 3/8 10
8 96906 MS35338-46 WASHER, LOCK, 3/8 10
9 96906 MS27183-14 WASHER, FLAT, 3/8 10
10 96906 MS90725-66 SCREWS, HEX-HEAD 8
11 INSULATORS 2
12 24446 41B556486G2 RESISTOR 8
13 24446 492A933G1 RESISTOR 2
14 96906 MS90725-55 SCREWS, HEX-HEAD, 3/8 6
15 LEADS, ELECTRICAL, MAKE FROM, 14 AWG

8491796 (72915) AND TERMINAL, 14-16 AWG,
3/8 STUD, 1434780 (594000), REF DES,
1GFR1, J1,2GFR1, 1GFR21, J1,2GFR21

END OF FIGURE

55-1



